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Instruction : First 15 minuté‘ﬁ’e{aﬁﬁfﬁﬁfor the

candidates to rﬂﬂ}m&“ﬁb@ﬁf

Note: (i) All 'ﬁ'ués“:ﬁilﬁs are compulsory. Marks
allotted to each question are given in the

. margin.
(i)  Give relevant answers to the questions.

(i)  In numerical questions, give all the steps
of calculation.

(iv) Give chemical equations wherever
necessary.
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(@), f= 8§ & 2R w M Sefin fom |
R T R 7 1

(i) CH,COOH (i) HCOOH
(i) HCHO (ivy CH,CHO

(%) wpfos Tgos g - 1
() iR i) g
(in) .4, (iv) THAH

Ingach.part.of this Question, four altematives.are
given. Select the correct allemative and write il in
the answer-book : o g

@) T Amongst the: following, which -one is a
colligative propeny ? - 1

- 4(_i) Surface tensuun

(32 P Tkl Pl =01 11 N
{n) Vistosit

I IR T | ol e sl el

(iii) Osmotic. pressure

(iv) Optical act?‘-‘lty .,

(b) Lucas réagent is.used tosidemify ~_. C
b ec{i)ur NitroAlkane ()., .Alkene
(iii) Aléohal " (ivi+ Alkyl Amine
(&)’ In isdlhernial expansion‘ol an ideal ws 9
(i)  internal energy 'Elc'cl:cnhes_
" i) itemal eiergyindieascs.
(i) total cticrgy decreases,
(iv) internal energy remains constant.
3TE{GF) - -3 (Y-1) P:T:0.
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Which compound amongst the following
does not reduce Fehling’s solution ? 1

() CH,COOH (i) HCOOH

(i) HCHO  (iv) CH,CHO

Natural polymeris 1
(i) ‘Pul)rthcne (i) Cc]_lulose '
(iif) P,V,_C. (iv) Teflon

ST ) I afRa BT | 1
- EEA-RNmTES s = b

whaw e | | ,

THAH=6, 6 IgeTH ¥Q T § 7 AP

e 28 g e 1
FHfF i 3 - NH, ¢ #) Juftafy )
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Explain molarity with example. 1
Write down the chemical equation of
Hofmann Bromamide reaction, 1
How is Nylon 6-6 polymer formed Explain
Biving the chemical reaction. 1
Identify - NH, 70Up in organic compounds
with the help of following test 1
Carbylamioe resction

‘ v-1)
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1 R 273,15 3R 3 | 1 (b) Sﬁs:ri?e the ::u*:éhcnjr of Pr?paraél:nn of
roform in laboratory giving diagram
(@) st sfirfira m foupt ferfa | 1 and related chemical reactions.
() ;H:ﬁi\[i‘i"m yHifes qgerh 4 1 (¢) .How will you differentiate between
? T 1 T -T I G | 1 , formaldehyde and acetaldehyde ?
(v) A~ 7R $i 3 fiftrat fafle ) 1 . (d) Differentiate between primary, secondary
3. (a) Freezing point of a 5% solution (by weight) = = and tertiary alcohol. ;
of sugar in water is 271 kelvin. Determine = = . . _
the freezing point of 5% solution of glucose = = W e el 1 C
in 'water if the freezing point of pure water g ﬁ 5. =) Qwﬂmaﬂ?ﬁﬁm Yelee # folg &
is 273.15 kelvin. _ 1 = = <t ) vl R |- wmfe TarafE e
(b) Write short note on Sandmt?yer'sreacuun. 1 —g_ —_,; ' Tt fifae | P o )
(¢) Write down differences bctwcfn 2 2 f K R I S TR N Vv
thermosetting plastic and thermo plastic o = (@) Fefofen, ma affsmet w s=fRa
with one — one example of each. 1 % ?_, ¥ Wﬁﬁﬁm‘ﬂﬁﬁﬂﬁﬁl‘-ﬂz .
(d) Write two methods of preparation of =2 5 . T - :
nitrobenzene. ! 0 Q o B . 2(m)
4. (%) 3oz ¥ AT T FAA & Fram w wfonfa = = ' () Pfwmidee...
Bifere 7o 356 HE T 2 (i) T - 2R e
#! fafty = v
(@) e H it T m : NP
e | i & R o M O a2 kT w
_ aﬁlliill 2 . wifte fflg ) - 2{141)
55 i =
) et et A R AR 2 (i) ey s ek 0 i R |
(a) e, o o e et A e . (\) W R fefag 20800
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Define Raoult’s law of lowering vapour
pressure. Write its limitations.

(®) 508 R G F & 5% (woaer) fem 4. )
w feurs 271 ¥R | e@e F A R -
5% foreram o1 femis e Hifre, 4R g 7t

(i) TEHIH
Y=1) P.T.0. (i) 'E'Hﬂﬁlfq
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(@) How will you differentiate between ethyl
alcohol and methy! alcohol by two tests and

also give related chemical reactions. 2 7. faafma.C I@ D 1M, A QE il E‘ﬁ

(b) r'Hrilt: down short note on the following H@mmmﬁﬁﬂﬁl 3
Important  rcactions by giving related
chemical equations. 2(141) Y

(i) Williamson synthesis.

(1) Reimer-Tiemann reaction. ﬁ'qﬁ‘iﬁaﬂ R [} Fﬁﬁf m %ﬁﬂ : 3

{¢) (1) What is urotropine ? Write chemical (i) DNA
reaction of its formation. 2 (141) S
(i) WA

(1)) How is mesitylene obtained ? Write
its chemical reaction. ,

=4 =4 =4
E E E
- = = ) 94 =
(d)  Write short notes on : 2 (141) _:’;- _g () é’;
(i)  Heat of Combustion 2 £ 7. Write the names, source and the diseases caused 2
(i) Hess's Law é":‘ g" due to the deficiency of vitamin A, C & D. 3 §
2 3 OR :
sitfer dmrs T R 7 el o aifert Ak & 3 S | :
A Trawfye e faftaa | 3 = = Write short notes on the following : 3 2
m {i] D-N-Ao
T TS, IR 3 W # e @ (i)  Protein
2 @ w4 7 3 (iii) Fa
What is oligosaccharides ? Wnite two chemical _
properties of any one oligosaccharide, 3 — . http:/www.upboardonline.com
OR Whatsapp @ 9300930012
Send your old paper & get 10/-
How will you obtain Glucosazone, Gluconic acid I g A g i 10 T
and Sorbitol from Glucose ? 3 :
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